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Note : This paper is of seventy (70) marks containing 

three (03) sections A, B and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 



 [ 2 ] MAEC–102 

A-24 

1. Using the aggregate supply-aggregate demand model 

explain how output and prices are determined ? Will 

output vary or stay fixed in the long run ?  

leLr vkiwfrZ ,oa leLr ek¡x ekWMy dk mi;ksx djrs gq, 

;g O;k[;k dhft;s fd mRiknu ,oa dherksa dk fu/kkZj.k fdl 

izdkj gksrk gS \ D;k nh?kZdky eas fLFkj jgsxk ;k ifjofrZr 

gksxk \  

2. What do you understand by consumption function ? 

Explain briefly the permanent income hypothesis 

propounded by Milton Friedman.   

miHkksx Qyu ls vki D;k le>rs gSa \ feYVu ÝhMeSu }kjk 

izfrikfnr LFkk;h vk; ifjdYiuk dk laf{kIr o.kZu dhft;sA  

3. Compare Fisher’s version with the Cambridge version 

of the quantity theory of money.   

fQ’kj ds eqnzk ifjek.k fl)kUr dh rqyuk dh dSfEczt eqnzk 

ifjek.k fl)kUr ls dhft;sA  

4. Discuss the relative effectiveness of monetary and 

fiscal policies for the economic stabilisation under 

different situations.  

fofHkUu ifjfLFkfr;ksa eas vkfFkZd fLFkjhdj.k gsrq ekSfnzd uhfr 

,oa jktdks”kh; uhfr dh lkisf{kd izHkkodkjdrk dk o.kZu 

dhft;sA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA 

1. Increase in real GDP is often interpreted as increase in 

welfare. Why ?   

ldy ?kjsyw mRikn esa o`f) dh O;k[;k izk;% dY;k.k eas o`f) 

ds lanHkZ eas dh tkrh gSA D;ksa \  

2. Why aggregate demand curve is downward sloping ? 

Give reasons.   

leLr ek¡x oØ dk <ky v/kksxkeh D;ksa gksrk gS \ dkj.k 

Li”V dhft;sA  

3. Explain Keynesian investment theory.  

dhUlh;u fuos’k fl)kUr dh O;k[;k dhft;sA  

4. Write a note on foreign trade multiplier.  

fons’kh O;kikj xq.kd ij ,d fVIi.kh dhft;sA  

5. What is liquidity trap ? Discuss its implications.  

rjyrk tky D;k gS \ blds QSykoksa dh O;k[;k dhft;sA  

6. What is inflationary gap ? How does it arise and how 

can it be removed in the economy ?  

LQhfrd vUrjky dk vk’k; D;k gS \ ;g fdl izdkj 

mRiUu gksrk gS rFkk vFkZO;oLFkk ls fdl izdkj gVk;k tk 

ldrk gS \ 
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7. Discuss the role of open market operations in 

economic stabilisation.  

vkfFkZd fLFkjhdj.k gsrq [kqys cktkj dh fØ;kvksa dh Hkwfedk 

dh O;k[;k dhft;sA  

8. Write a note on Samuelson theory of trade cycles.  

lSE;qylu ds O;kikj pØ fl)kUr ij ,d fVIi.kh fyf[k,A  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate the correct choice. 

lgh fodYi fpfUgr dhft;sA 

1. Macro Economics is concerned with :  

(a) Only long run trends in economic activity  

(b) Only short run fluctuations in the business cycles   

(c) Only with changes is overall price level  

(d) Both long run trends and short-term trends 

fluctuations in economic activity.   

lef”V vFkZ’kkL= lEcfU/kr gS % 

¼v½ vkfFkZd dk;Zdyki esa nh?kZdkfyd izo`fŸk;ksa ls  



 [ 5 ] MAEC–102 

A-24 P. T. O. 

¼c½ O;kikj pØksa esa vYidkfyd mPpkopuksa ls  

¼l½ lexz dher Lrj esa ifjorZuksa ls  

¼n½ vkfFkZd dk;Zdykiksa esa nh?kZdkyhu izo`fŸk ,oa 

vYidkfyd mPpkopuksa nksuksa ls  

2. According to the views of classical economists, if the 

money supply doubles :  

(a) Money prices will double  

(b) Relative prices will double  

(c) Money prices will be halved  

(d) No effect on prices  

laLFkkxr vFkZ’kkfL=;ksa ds fopkjksa ds vuqlkj ;fn eqnk&vkiwfrZ 

nqxuh gksrh gS rks % 

¼v½ ekSfnzd dhersa nksxquh gksaxh 

¼c½ lkisf{kd dhersa nksxquh gkasxh 

¼l½ ekSfnzd dhersa vk/kh gksxh 

¼n½ dherksa ij dksbZ izHkko ugha gksxk 

3. Investment demand function describes the :  

(a) Negative relationship between demand for money 

and interest rate  

(b) Positive relationship between interest rate and 

investment   

(c) Positive relationship between interest rate and 

aggregate expenditure   

(d) Negative relationship between interest rate and 

investment  
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fuos’k ek¡x Qyu o.kZu djrk gS % 

¼v½ eqnzk ek¡x ,oa C;kt nj ds e/; _.kkRed lEcU/k 

¼c½ C;kt nj ,oa fuos’k ds e/; /kukRed lEcU/k  

¼l½ C;kt nj ,oa leLr O;; ds e/; /kukRed lEcU/k  

¼n½ C;kt nj ,oa fuos’k ds e/; _.kkRed lEcU/k  

4. Full employment means that there exists : 

(a) Only involuntary unemployment   

(b) Only structural or/frictional unemployment   

(c) Measured unemployment rate is zero  

(d) No job vacancies at the time  

iw.kZ jkstxkj ls vk’k; gS fd vFkZO;oLFkk eas % 

¼v½ dsoy vuSfPNd csjkstxkjh gS 

¼c½ dsoy lajpukRed vFkok@?k”kZ.kkRed csjkstxkjh gS 

¼l½ ekfir csjkstxkjh nj ‘kwU; gS 

¼n½ mDr le; ij lsok fjfDr;k¡ ‘kwU; gS  

5. According to Keynes the expected rate of profit from 

an additional unit of capital asset is known as :   

(a) APC (b) MPC 

(c) MEC (d) GDP 

dhUl ds vuqlkj iw¡th lEifŸk dh ,d vfrfjDr bdkbZ ls 

izR;kf’kr ykHk dh nj dgykrh gS % 

¼v½ APC ¼c½ MPC  

¼l½ MEC ¼n½ GDP 
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6. If consumption function is C 10 0.8 Yd , then the 

value of multiplier is :   

(a) 10 (b) 8 

(c) 0.8 (d) 5 

;fn miHkksx Qyu C 10 0.8 Yd  gS] rc xq.kd dk eku 

gksxk % 

¼v½ 10 ¼c½ 8 

¼l½ 0-8 ¼n½ 5 

7. During period of inflation, tax rates should :  

(a) Remain stationary  

(b) Decrease  

(c) Increase  

(d) Fluctuate  

LQhfr dh vof/k eas djksa dh nj % 

¼v½ fLFkj jguh pkfg;s 

¼c½ ?kVuh pkfg;s 

¼l½ c<+uh pkfg;s 

¼n½ cnyrh jguh pkfg;s 

8. Quantity theory of money should be regarded as a 

theory of demand for money. This view was given by :  

(a) D. H. Robertson  

(b) J. M. Keynes  

(c) A. C. Pigou 

(d) M. Friedman  
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eqnzk dk ifj.kke fl)kUr eqnzk dk ek¡x fl)kUr dh rjg 

le>k tkuk pkfg;sA ;g fopkj fn;k x;k % 

¼v½ Mh- ,p- jkWcVZ~lu ¼c½ ts- ,e- dhUl 

¼l½ ,- lh- ihxw ¼n½ ,e- ÝhMeSu 

9. Money supply in India is governed by :  

(a) NITI AAyog 

(b) National Finance Commission   

(c) Reserve Bank of India  

(d) Finance Ministry  

Hkkjr esa eqnzk vkiwfrZ ij fu;U=.k djrk gS % 

¼v½ uhfr vk;ksx 

¼c½ jk”Vªh; foŸk vk;ksx 

¼l½ Hkkjrh; fjtoZ cSad 

¼n½ foŸk ea=ky; 

10. Keynes explanation of trade cycle is based on :  

(a) Supply side Economics  

(b) Multiplier  

(c) Acceleration principles  

(d) Saving function 

dhUl dk O;kikj pØ dk fo’ys”k.k vk/kkfjr gS % 

¼v½ vkiwfrZ i{k vFkZ’kkL= 

¼c½ xq.kd  

¼l½ Rojd fl)kUr 

¼n½ cpr Qyu  
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